
Competency Based Test Class -9

Month – December Subject – social
science
Q.1 Gaurav living in the area where trees are tall, thick, hard even not allowing sunrays to penetrate

in. which type of the forest are in Gaurav’s area

A) Tropical deciduous

B) Temperate deciduous

C) Evergreen forest

D) Mountain forest

Answer- C) Evergreen forest

Explanation: Evergreen forest are tall and hard due to more rainfall also they are dense so have very

thick canopies which restrict sunrays.

Q.2 Mohan want to see mangrove trees which place he should visit?

A) Place where rainfall is less

B) Place where rainfall is moderate

C) Place where fresh water mixing with salty water

D) Place having distance from sea

Answer- C) Place where fresh water mixing with salty water

Explanation: mangrove trees occur where fresh and salty water mix with each other

Q. 3 here vegetation is very sparse and thorny and rainfall is less. In which state these characteristic

are found

A) Kerala

B) Uttar Pradesh

C) Chhattisgarh

D) Rajasthan

Answer- D) Rajasthan

Explanation: due to the less rainfall in Rajasthan vegetation cover is very sparse. Shrubs bushes and

thorny trees occur here

Q.4 Recognise the place on the basis of given information

This is situated in two state of south India, it is rich in biodiversity, sufficient rainfall in this region

A) Pachmarhi



B) Achanakmar

C) Nilgiri

D) Simlipal

Q.5 Consider the given map and state that which type of the forest found in marked area?

A) Temperate thorny forest

B) Tropical thorny forest

C) Tropical Deciduous forest

D) Tropical evergreen forest

Answer- B) Tropical thorny forest

Explanation: This region getting less rainfall so Tropical thorny forest occur here

Q.6 If there is no separation of power what will be consequences

A) A small group can be powerful

B) Decision making will be faster and easier

C) It will be in favour of common people

D) Democracy will be strengthen

Answer- A) A small group can be powerful

Explanation: government will take all decision and also will implement. There will not be any check

on it some minister can accumulate power in there hand.

Q.7 Choose the correct option from the following

A) Rajya Sabha and Lok Sabha dissolve after every five year

B) Lok Sabha is more powerful than Rajya Sabha

C) Money bill can be introduce in Rajya Sabha

D) Rajya Sabha control over Lok Sabha



Answer- B) Lok Sabha is more powerful than Rajya Sabha

Explanation: council of minister responsible to Lok Sabha and Lok Sabha is directly elected by the

people

Q. 8 consider the option given below and choose correct one

A) Prime minister appoints other minister

B) President is actually powerful than prime minister in India

C) Prime minister enjoy the power of president in India

D) Prime minister is more powerful in coalition Government

Answer- C) Prime minister enjoy the power of president in India

Explanation: According to the constitution of India president will work with the advice of prime

minister and his council

Q. 9 consider the given picture it tells about

A) Powerful government

B) Full majority government

C) Coalition government

D) Autocratic government

Answer- C) Coalition government

Explanation: In the given picture prime minister enjoying power with the support of other people

and it happen in coalition government.

Q. 10 consider the given picture about the power. It shows



A) State government is more powerful

B) State government enjoying their power

C) State government can use the power according to central government

D) Central government has no control over state government

Answer- C) State government can use the power according to central government

Explanation: in this picture central government is distributing power according to her wish


